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7.924 x 1000 = 9.208 x 100000 =
4.133 x 1000 = 10.22 x 10000 =
9.08 x 1000000 = 1.574 x 100000 =
6.314 x 1000 = 3.639 x 100000 =
8.37 x 10000 = 4.988 x 100 =
8.995 x 1000 = 1.598 x 10000 =
10.601 x 10 = 7.141 x 10000 =
4.409 x 100000 = 5.246 x 1000000 =
8.846 x 1000 = 8.242 x 1000000 =
6.337 x 100000 = 5.154 x 10000 =
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7.924 x 1000 = 7924 9.208 x 100000 = 920800
4.133 x 1000 = 4133 10.22 x 10000 = 102200
9.08 x 1000000 = 9080000 1.574 x 100000 = 157400
6.314 x 1000 = 6314 3.639 x 100000 = 363900
8.37 x 10000 = 83700 4.988 x 100 = 498.8

8.995 x 1000 = 8995 1.598 x 10000 = 15980
10.601 x 10 = 106.01 7.141 x 10000 = 71410
4.409 x 100000 = 440900 5.246 x 1000000 = 5246000
8.846 x 1000 = 8846 8.242 x 1000000 = 8242000
6.337 x 100000 = 633700 5.154 x 10000 = 51540
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